AATEEFTEREIRE 7R4B(#) (BSABES 28 40%)

W1 Bk 2 ik BEER 7 KAy 1.6% % 4 Bk 2 % GEEC 7T K5y 1.6%
G | HE | BE 5 4 AL | H | wEs| S aE | BlE | BE 5 4 AL | HE | weEs| §S
O 1 2 | BRIFEF 2:43.9 | 500 59 O 1 T |HRreAT2T 2:44.0 | 480 | 288
O 2 4 |=vEYYF 2:50.9 | 480 | 314 O 2 4 |RreAYLY 3:19.6 | 500 | 379
O 3 5 |F=AA 2:51.5 | 480 | 350 O 3 5 |EART2YT 3:35.9 | 480 | 246
O 4 6 [(UFT—LRw 3:04.9 | 500 25 4 6 |77 4:42.4 | 480 | 268
O 5 3 |YuvxsA 3:26.3 | 500 | 173 Fuk |1 | FEIRRY 480 95

fiuk |1 | —Fa—h 480 34 fiik | 2 |Fravre 500 | 209
k|7 RAFUNS 480 322 k| 3 [ 480 111

% 2§ 2 Ik BEER 5 K4y 1.6% % 5 B 2 % GEEC 7T K4y 1.6%
6| ENE | BE 5 HAL | H R wEET| fEE G5 | HE | BE 5 % AL | H | wEEr fiE
O 1 4 |F7¥ v — 3:10.1 | 480 | 215 O 1 NN EDY /a4 3:24.4 | 500 | 348
O 2 5 |P=A)THA 3:20.8 | 480 | 126 O 2 5 |Yh IS — 3:38.8 | 500 | 108
O 3 3 |Huver 3:20.9 | 500 53 (@] 3 2 |[F—RmLtT— 3:44.9 | 500 2

4 6 |FHWartAs 4:27.2 | 500 71 O 4 7 |vAv 3:47.0 | 480 | 145
fiuk | 1 | FrrT 480 | 190 O 5 6 |[7TTEURELY 3:47.2 | 480 | 370
By | 2 |AZEARY—4 500 | 297 6 4 |m—ws7s 3:59.4 | 500 99

fiik | 3 |ZLFAsFavh 480 91

W3 2 ik BEEC 5 K4y 1.6% W6 EE 2 ik SEE 7 KSY  1.T%
BE | HIE | EE 5 % HAL | H R wEEy i BE | HIE | BE 5 % SAL | HE R i
O 1 3 | THeTrAT— 2:56.8 | 500 17 O 1 7 |P=Au—F 2:39.3 | 500 | 142
O 2 6 |[YhIAwAY— 3:20.9 | 480 | 109 O 2 6 |[To~Hg 2:40.1 | 500 | 267
O 3 1 |[ZHFxrBLUb 3:22.4 | 480 | 179 O 3 5 |RreATY /v~ 2:49.5 | 500 | 283
O 4 4 |\ YT = 3:35.4 | 480 55 O 4 3 |7V 2:50.4 | 480 | 376

5 5 |RreAILA— 4:23.7 | 500 | 300 O 5 2 |[YzAwRrT 2:51.0 | 480 | 136
Bl | 2 |[YHALIEIAE) 500 | 197 O 6 VEEINS B 3:30.9 | 480 | 104

k| 1 AT Yavex 480 21




